
IDENTIFY THE DOMINANT COLOR IN EACH PAIR

A                               B                                C                                  D                                E

A                               B                                C                                  D                                E

A                               B                                C                                  D                                E

A                               B                                C                                  D                                E

WHICH IS MORE
DOMINANT?

WHICH IS MORE
DOMINANT?

WHICH IS MORE
DOMINANT?

NOTE:  ALL THE “A” SWATCHES ARE 
THE SAME COLOR. The same is true
for all the “B”s.
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